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Exam # IV

Multiple choice questions ( 5 points )

1.
In a two-sample test of means for independent samples, n1 = 12 and n2 = 10. How many degrees of freedom are in the test?


a.
22
b.
21


c.
20
d.
none of the above

2.
In the paired t-test, we assume in the null hypothesis that the distribution of the differences between the paired observation has a mean


a.
equal to 1.
b.
equal to n - 1.


c.
equal to 0.
d.
none of the above

3.
For tests of hypothesis for a two-sample means, sample size greater than 30, a one-tailed test (rejection region in the upper tail), using the 0.01 significance level, the critical value is:


a.
2.18
b.
2.68


c.
2.33
d.
3.12

4.
To determine if a diet supplement is useful for increasing weight, patients are weighed at the start of the program and at the end of the program.  This is an example of a(n)


a.
test of paired differences.

b.
independent sample.


c.
one-sample test for means.

d.
two-sample test for means

5.
If we are interested in testing whether the mean of population 1 is significantly larger than the mean of population 2, the


a.
null hypothesis should state (1 - (2 > 0


b.
null hypothesis should state (1 - (2 ( 0


c.
alternative hypothesis should state (1 - (2 ( 0


d.
alternative hypothesis should state (1 - (2 ( 0

Problems

I. ( 10 points )

The manufacturer of an MP3 player wanted to know whether a 10 percent reduction in price

is enough to increase the sales of their product. To investigate, the owner randomly selected

eight outlets and sold the MP3 player at the reduced price. At seven randomly selected

outlets, the MP3 player was sold at the regular price. Reported below is the number

of units sold last month at the sampled outlets. At the .01 significance level, can the manufacturer

conclude that the price reduction resulted in an increase in sales?

Regular price 
138 121  88 115 141 125  96

Reduced price 128 134 152 135 114 106 112 

a. State the null hypothesis and the alternative hypothesis.

b. Show the decision rule graphically

c. Compute the  value of the test statistic and state your decision regarding the null hypothesis.

II. ( 10 points ).
Some people who bought X-Game gaming systems complained about having received defective systems.  The industry standard for such systems has been ninety-eight percent non-defective systems.  In a sample of 120 units sold, 6 units were defective.


a.
Compute the standard error of 
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.


b.
At 95% confidence using the critical value approach, test to see if the percentage of defective systems produced by X-Game has exceeded the industry standard. Follow the five steps procedure.


c.
Show that the p-value approach results in the same conclusion as that of part b.

Bonus question: ( 4 points )
. Each month the National Association of Purchasing Managers publishes the NAPM index.

One of the questions asked on the survey to purchasing agents is: Do you think the economy

is expanding? Last month, of the 300 responses 160 answered yes to the question.

This month, 170 of the 290 responses indicated they felt the economy was expanding. At

the .02 significance level, can we conclude that a larger proportion of the agents believe the

economy is expanding this month?
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